a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10°|

G(0 X) (um)

10°|

1.UD!

Ratio

05150 -5 0 5 10 15 20 B =i5=10 -5 0 B 10 15 20
Vertex z (cm) Vertex z (cm)

S ETRETIIC A
LR

a(0 x) tor merged vertices (um)

Ratio

=
o
w

20 =15 =10 -5

O~~~

10 15 20
Vertex z (cm)

—— DQM_V0001_R000000001__Global _mkFit10000__RECO
—— DQM_V0001_R000000001__Global _mkFit1000__RECO

o(0y) (um)

10?
: 10%

Al b i I
A W o N :
i
RATORNN| W AT IO SN POV SUUUR FOVIT VO FOUL OO LT
: MM RN | RO 111
Eoi TEETEN s b 5|||||5|||||| ________
: : {[THTITH

®o=i5=10 5 0 5 10 15 20 ®Oo=15-10 50 5 10 15 20
Vertex z (cm) Vertex z (cm)

10° =

10%|

0(0 z) (M)

10°E

10|

1.UD! L.UD!

Ratio

B

0 -15-10 -5 0 5 10 15 20 10 15 20
Vertex z (cm) Vertex z (cm)

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10°

10?

R ATTRLITT
0 -15-10 -5 0 5 10 15 20

Vertex z (cm)

0.95°

B0 -15-10 -5 0 &5 10 15 20

Vertex z (cm)



	Contents
	Page 1


